practice problem on matrix multiplication

3., 5= _
40, If4= [ B ] , then find 4% — 54 — 141. Hence, obtain 4°.
: 3 -5
Sol. Weh = : e
e have, 4 |i_4 2] | ®)

s 3 -5][3 -5] [29 -25
S |4 2|4 2| |20 24

s 14l 29 -25] [1s -25] [14 0] _[o o
ST 20 24 =20 10 0 14| |0 0
Now, A*-54-141=0
A-A*-54-A=1441=0

A -54*-144=0
A’= 547+ 144

29 -25 3 -5
=5 +14
20 24 = 2

_[145 -125 N 42 =70
“1-100 120 |[-56 28

L4

187 -195
-156 148
page—-58
NOTE: for topics covered in this lecture, there is very few problems in ncert.

to practice concepts covered here, please solve problems from similar and
past year ques pdfs.



